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QUESTION 1

What occurs when a high bandwidth multicast stream is sent over an MVPN using Cisco hardware?

A. The traffic uses the default MDT to transmit the data only if it is a (S, G) multicast route entry.

B. A data MDT is created to if it is a (*, G) multicast route entries.

C. A data and default MDT are created to flood the multicast stream out of all PIM-SM neighbors.

D. A data MDT is created to allow for the best transmission through the core for (S, G) multicast route entries.

Correct Answer: B

QUESTION 2

Refer to me exhibit.
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A network engineer notices PE-21 convergence degradation due to the growing LSDB size of Level 2 areas in the
network The engineer decides to migrate router PE-21 from an inter-area design to an intra-area implementation, inter-
area routing must De accomplished via an ATT-bit set by the Level 1/Level 2 router. Which configuration must the
engineer implement on PE-21 to complete the migrate?

A. configure terminalrouter isis 1 no net 49.0200 net 49.5000 is-type level-1-2end

B. configure terminalrouter isis 1 net 49.5000.0100.1202.0021.00 is-type level-1-2end

C. configure terminalrouter isis 1 net 49.5000.0100.1222.0022.00 is-type level-lend

D. configure terminalrouter isis 1 no net 49.0200.0100.1202.0021.00 net 49.5000.0100.1202.0021.00 is-type level-1end

Correct Answer: D
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QUESTION 3

Which configuration mode do you use to apply the mpls Idp graceful-restart command in I0S XE Software? MPLS
A. MPLS

B. LDP neighbor

C. global

D. interface

Correct Answer: C

QUESTION 4

Which MPLS design attribute can you use to provide Internet access to a major customer through a separate dedicated
VPN?

A. The Internet gateway router is connected as a PE router to the MPLS backbone.

B. The CE router supports VRF-Lite and the full BGP routing table.

C. The Internet gateway inserts the full Internet BGP routing table into the Internet access VPN.

D. The customer that needs the Internet access service is assigned to the same RTs as the Internet gateway.

Correct Answer: D

QUESTION 5

Refer to the exhibit.
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LD ey LOP poer 10.10.10.8
L - - L ]
RZ#
ipvd access-list peer acl 1 RX#
10 parmit ipwvd host 10.10.10.2 any ipvd access-list peear acl 1
20 permit ipwd host 10.10.10.1 any 10 pammit ipvd host 10.10.10.2 any
' 20 pamit ipvd host 10.10.10.5 any
ipvd acoess-list peer acl 2 '
10 permit ipvd host 10.10.10.6 any mpls ldp
] session protection duration 60 for peer acl 1
mpls ldp

session protection duratiom 30 for pser acl 2

The radio network and packet core are using the route RX-RZ-RB to establish communication. The LDP session
between 10.10.10.5 and 10.10.10.1 is experiencing link flapping at random intervals for 30-45 seconds each time. A
network engineer must protect the LDP session and improve MPLS traffic convergence. Which action meets these
requirements?

A. Configure peer_acl_2 on RX and allow IP address 10.10.10.6 in LDP.

B. Attach peer_acl_1 in for session protection duration 1 on RX.

C. Add session protection duration 60 for peer_acl_1 under the MPLS LDP instance on RZ.

D. Enable IGP-LDP sync on RZ and RX.

Correct Answer: C
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